w1 s "nooar L19.5.49
«avaYan nmaayen Y2 Yepiey v3ves a3 Jnabeon e wmpn Br33

am my 230 Yvasra JNYIDNAT E*YYYNN NANBWED YEOD Ypaataiva nbacp -
or 1130 ,ove%r 292 T400 ,vne 7%+ oy 11600 ,o0va% vaw oF 1900 ,0v1%Y 2-m
2=n an1v oy 150 *wpa 34,880 n"p ,o'p117 "an By 10600 ,o'kiwa Yean
¥990 1000 ,avhs vh3 6500 s 9% By 9500 ,ovThY vaw 6F 2BOD ,099%Y

= 5500 = 6500 = 1800 = 1530 = vyyva ,29.450 n"p ,@%pvyy YVin 9500 ,omved
amy "y 40 gy vaen Ry By oveab avxpan ,23.350 n"o - BS00 = 900

= @1 2 oy ovwal "% 6000 savv 6000 vmn 9200 Yvhoe wrIna ,¥3i003

« "% 2T "mr v py nemy (59,400 iy 92,400 vme 138,700 Yraaw "% 33
¥ ax " 18 orahy sha L ITRB00 save *%% 256500 swp "% N I.200 YraoR
6000 *mu ,6900 Yvask , 6 o Iwd Yw otvIA 99000 Y3y 117000 ves 133200
= 148730 *31+ 166250 *xo 185500 Yvew ,17Y2 ovpr1a Ye ovvn 5400 vane

+A94050 w398 544130 wmp ,TTETOO »vox Epinpwnt p*oiven n®p

1*m1ven ,(13.500 = 17000 = 20,000} "wn1 e*x1ap% avoYyen nr 13%e
= 280D = M200 grvaiw mAtF Yaie 1TO00 = 24000 = 30,000 B* avwpRiawy
20 12000 = 15000 = 18000 n¥svp 13000 = 20000 - 25000 $vin 20000

SITTSS50 vavy TI6150 wwa 913900 Hvaex n®o 6000 = 8000 = 10,000 .01

%0 wien 22 YYER =IMN1738 YA eYaxa nYarp 11w miyvaen oY -
w**apvx avnaan 100 e 33 o 25 205 prb 6 ,ev1w 55 ,o'mvin 4 - B

.8%8Y & 64 ,0%0 120 .n B5 ,6™ 75 .n B ,105/120



WE3%RE AR Ahyea wnkY Levx 62,000=% Eaxn Frar Y31y menna - aprv -

= PI20D Yy WY DEW FYTIR AP LEY FYIY BE pEPRD Ap¥Y Yax gk 45=% yvanh
BY E¥M ROADER JEIR VIIF YAUBE LOYVYIAWR whhab %31y = 30000 ®'n ynaapay
RYBID nAposY ANFATE Y WNIEK AT R PP TIFEY RN KIMY y JOUO0=0 N1y
«11NB37 T3 AR APEEMIA ,NPEEY NINE* BY30Y OR LRIKD FITT EVIINY
SEEEIN LTIFYE TEYN VIVAR LBRAVER YK 73R TR L YEF IR 1BIFEI ¥YED IFFY

TIYEL 13T OINE 2% aavaw prafnb

DIMY ,MIRYPAY naa QYR L YFED [FYNOYDBOY (1ayzk 1377) 9piz ¥exo N =

LTYEFAY = THYEDIY

v " Ty prr L20.5.49

SAYIINER MIENT nnsae KEAYTY "mran®™ mamah 1ran vawra wvan wmepra
12 w* L3220 nhiy - aee 20,35 caw ovtn 2T 189 mviry - A%ee 15,7 - e w0
LA%a3 awb " TO 711y weeanh wr Le'p1Ya mivpn LR = 2an .1BP maeRY nnYpo
nr3a’ ¥3yn nann 7% 10 abry na bown eb LeTRY 13 ,EE@3 nYa L aE0 2
MIEZVA G e*rario Yeav YelY %912 = m11¥In  LwTIR Yw f3a0 YanE = gi%y nva 50
8% nvnv o*ovsob on Y% S npiKEYA RTHTIR %3 L1128 Ty5% 1R  mipte ,TWEDR

«4=5% *p2 m11*y LonY w112 15 ,nYeoob w1l

rYF* "mina”™ "y 120 avip 0 16 = TF YR DY AYET @VYI¥T BYAR

«"% 30 nv1y 0N 20 TF DY vemx ™Y 61


http://www.tcpdf.org

